Test Bank Questions by TEKS for Chapter 3
1. Sea World of Texas reported that it had 250,980 visitors last summer. Which shows the number of visitors in expanded form? 

	A
	2 + 5 + 9 + 8

	B
	200 + 50 + 900 + 80

	C
	2,000 + 500 + 90 + 8

	D
	200,000 + 50,000 + 900 + 80


Answer: D
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6.7(A)
2. Which factor tree shows the prime factorization of 36?

	A
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Answer: B

6.7(A)
3. Which of the following is equivalent to 83?

	A
	8 · 8 · 8

	B
	8 · 3

	C
	3 · 3 · 3 · 3 · 3 · 3 · 3 · 3

	D
	8 + 8 + 8


Answer: A


6.7(A)
4. The correct prime factorization of 504 is

	A
	23 · 32 · 7

	B
	7 · 8 · 9

	C
	22 · 32 · 7

	D
	2 · 3 · 7


Answer: A

6.7(A)
5. What is the value of 32 · 52 · 7?

	A
	105

	B
	420

	C
	1050

	D
	1575


Answer: D


6.7(A)
6. What is the prime factorization of 220?

	A
	2 . 5 . 11

	B
	22 . 5 . 5

	C
	22 . 5 . 11

	D
	2 . 55


Answer: C

7. When students arrived at the math competition, they saw this sign. 

In all, 80 students came to the competition and sat in a group. Which lists possible group sizes?

	A
	1, 2, 4, 5

	B
	2, 4, 5

	C
	2, 4, 5, 8, 10, 16, 20, 40, 80

	D
	2, 5



Answer: D

8. Ms. Stewart has 75 pencils, 30 notebooks, and 45 erasers. What is the greatest common factor Ms. Stewart can use to divide the supplies into equal parts?

	A
	25

	B
	5

	C
	30

	D
	15


Answer: D
9. The teens at Hermann Sons Camp were divided into the same-size groups shown in the table. All teens were able to be part of each kind of group. 

	Activity Groups
	Number in

Each Group

	Pottery
	2

	Archery
	6

	Swimming
	4


Which could NOT be the total number of campers?

	A
	108

	B
	90

	C
	72

	D
	60


Answer: B


10. What is the greatest common factor (GCF) of 12, 24, and 48?

	A
	12

	B
	6

	C
	3

	D
	2


Answer: A

11. Which list contains all of the common factors of 14 and 42?

	A
	1, 2, 5, 7

	B
	1, 2, 7, 14

	C
	1, 2, 7

	D
	1, 2, 3, 6, 7, 21, 42


Answer: B


12. What is the greatest common factor (GCF) of two prime numbers?

	A
	1

	B
	2

	C
	the product of the prime numbers.

	D
	the difference between the prime numbers.


Answer: A

6.1(A)
13. The table shows the number of students trying out for the school play. 
SCHOOL PLAY

	Students
	Number

	Girls
	84

	Boys
	28


Ms. Stewart, the theater teacher, plans to arrange the students in equal rows. Only girls or boys will be in each row. What is the greatest number of students that could be in each row?

	A
	16

	B 
	12

	C 
	28

	D 
	14


14. What is the smallest number that has both 10 and 15 as a factor? 

	A
	20

	B
	30

	C
	45

	D
	60


Answer: B

6.1(A) 

15. William has swimming lessons every third day and diving lessons every fourth day. He had a swimming and diving lesson on May 2.

May 2007
	Sun
	Mon
	Tue
	Wed
	Thu
	Fri
	Sat

	
	
	 1
	 2
	 3
	 4
	 5

	 6
	 7
	 8
	 9
	 10
	 11
	 12

	 13
	 14
	 15
	 16
	 17
	 18
	 19

	 20
	 21
	 22
	 23
	 24
	 25
	 26

	 27
	 28
	 29
	 30
	 31
	
	


What is the next date on which William has both a swimming lesson and a diving lesson?

	A
	May 11

	B
	May 14

	C
	May 24

	D
	May 26


Answer: B

16. At the school fair’s fishing booth, every visitor to the fishing booth will receive a plastic bag. Some of the bags have items in them as shown in the table below. 

Items in School Fair Bags

	Items
	Bags

	Toy
	Every 2nd

	Key Chain 
	Every 7th 

	Schlitterbahn

Pass
	Every 10th 


How often will a bag contain all three items?

	A
	Every 14 bags

	B
	Every 19 bags

	C
	Every 70 bags

	D
	Every 140 bags


Answer: C


17. The least common multiple (LCM) of 9 and another number is 72. 
Which of these could be the other number?

	A
	3

	B
	8

	C
	12

	D
	70


Answer: B

18. Which of these numbers in NOT a multiple of 12?

	A
	6

	B
	12

	C
	24

	D
	48
















 









Answer: A


19. Which pair of numbers has a least common multiple (LCM) equal to one of the numbers in the pair? 

	A
	5 and 20

	B
	6 and 9 

	C
	9 and 19

	D
	10 and 15


Answer: A

20. Make a list of all of the divisors of 78 arranged in order from smallest to largest.

	A
	(2, 3, 6, 13, 26, 39, 78)

	B
	(1, 2, 3, 6, 13, 26, 39, 78)

	C
	(1, 2, 4, 8, 78)

	D
	(2, 3, 6, 13, 26, 39)


Answer: B

6.7(A)
21. Simplify the expression 
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	A
	7

	B
	-7

	C
	87

	D
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Answer: C
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